
1.
2. (3.)

2. (3.)

2. (3.)

4.5.

1.
2. (3.)

2. (3.)

2. (3.)

1.
2.

3.

3.

4.

4.

3.

4.

6.

5.

8.

7.

2.4.

3.

4.

7.

1.
4.

4.

5.6.

If you order only handle, then you need to order screws (for wooden door)
or bolts (for alu-coated door).

If you order only handle, then you need to order screws (for wooden door)
or bolts (for alu-coated door).

2.5.

4.

5.

3.
7. 8.

8. 1.
3.

3.

4.5.

6. 10. 9.

Quantity Remarks
1.
Pos. Description

Handle and cylinder hole inside

3.
4.

2.
1

Screw 4,5x80 (KA5700480) 3
Bolt M5x80 (KA5302112) 3
Cylinder rococo (Assa D1309;1209; 1

5. Bolt for cylinder M5x28 2
Dorma DC521 SCR)

Not included

Not included

For wooden door
For alu.-coated door

Quantity Remarks
1.
Pos. Description

Handle and thumb turn inside

3.
2.

1
Screw 4,5x80 (KA5700480) 3
Bolt M5x80 (KA5302112) 3

For wooden door
For alu.-coated door

Quantity Remarks
1.
Pos. Description

Handle and thumb turn inside

3.
2.

1
Handle outside 1
Bolt M5x90 3

4. Nut M5x20 3
5. Spindle 8x8x135 1
6. Bolt M5x28 2
7. FIX 5167 1
8. Nut M5 2

Remarks
1.
Pos.

Handle and cylinder hole outside

Description Quantity

3.
2.

1
1

Bolt M5x100 34.
Nut M5x20 35.
Spindle 8x8x140 16.

7. Cylinder rococo (Assa D1309;1209; 1

8. Bolt for cylinder M5x28 2
Dorma DC521 SCR)

Not included (ALT-24)

Not included (ALT-24)

Handle and thumb turn inside

Additional cover 1

Dorma DC521 SCR (ALT-34)

Not included (ALT-25)

Not included (ALT-25)

Quantity Remarks
1.
Pos. Description

Handle and cylinder hole inside

3.
2.

1
Handle outside 1
Bolt M5x90 3

ALT-25; ALT-32

4. Nut M5x20 3
5. Spindle 8x8x135 1
6. Bolt M5x28 2
7. FIX 5167 1
8. Nut M5 2
9. Cylinder rococo (Assa D1309;1209; 1

10. Bolt for cylinder M5x28 2
Dorma DC521 SCR) Dorma DC521 SCR (ALT-32)

ALT-24; ALT-34

ALT-23

ALT-22

ALT-21

Nr. 54/01.04.2020



2.5.

4.

5.

3.
7. 8. 1.

4.

4.

5.6.

7.8.

If you order only handle, then you need to order
screws (for wooden door) or bolts (for alu-coated door).

2.4.

3.

4.

7.

6.

1.
3.

3.

4.

5. 9. 8.

2.4.

3.

4.

7.

6.

5.
1.

3.

3.

4.

2.4.

3.

4.

1.
3.

3.

4.

1.
2. (3.)

2. (3.)

2. (3.)

Remarks
1.
Pos.

Handle and cylinder hole outside

Description Quantity

3.
2.

1
1

Bolt M5x100 3

ALT-26; ALT-31

4.
Nut M5x20 35.
Spindle 8x8x140 16.

7. Cylinder rococo (Assa D1309;1209; 2

8. Bolt for cylinder M5x28 4
Dorma DC521 SCR)

Not included (ALT-26)

Not included (ALT-26)

Handle and cylinder hole inside

Additional cover outside 1

Dorma DC521 SCR (ALT-31)

ALT-29; ALT-30
Remarks

1.
Pos.

Blind outside

Description Quantity

3.
2.

1
1

Bolt M5x90 3
4. Nut M5x20 3
5.
6.

8. Cylinder rococo (Assa D1309;1209; 1

9. Bolt for cylinder M5x28 2
Dorma DC521 SCR)

Handle and cylinder hole inside

7.

Bolt M5x28 2
FIX 5167 1
Nut M5 2

Not included (ALT-29)

Not included (ALT-29)
Dorma DC521 SCR (ALT-30)

Remarks
1.
Pos.

Blind outside

Description Quantity

3.
2.

1
1

Bolt M5x90 3

ALT-33

4. Nut M5x20 3
5.
6.

Handle and thumb turn inside

7.

Bolt M5x28 2
FIX 5167 1
Nut M5 2

Remarks
1.
Pos.

Blind outside

Description Quantity

3.
2.

1
1

Bolt M5x90 3

ALT-35

4. Nut M5x20 3

Handle inside

ALT-27
Quantity Remarks

1.
Pos. Description

Handle inside

3.
2.

1
Screw 4,5x80 (KA5700480) 3
Bolt M5x80 (KA5302112) 3

For wooden door
For alu.-coated door

Nr. 54/01.04.2020


